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Quantitative Aptitude for RRB NTPC (Solutions)

S1. Ans.(d)
Sol.

S2. Ans.(c)
Sol.

S3. Ans.(c)
Sol.

S4. Ans.(c)
Sol.



2 www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com

S5. Ans.(b)
Sol.

S6. Ans.(b)
Sol.

S7. Ans.(b)
Sol.
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S8. Ans.(d)
Sol.
Since 100 Men can complete one third work in 10 days therefore one third work is 100 × 10 Man days
therefore total work is 100 × 10 × 3 Man days. Also 100 Men worked for first 10 days, 160 Men worked
from beginning of 11th day to end of 18th day i.e. for 8 days. Now 18 days are already over and 5 more
days are required to finish the work in total 10 + 13 i.e. 23 days. Let us assume X men will be discharged
at the end of 18th day. Hence (160 – X) Men will work for another 5 days.
100 × 10 + 160 × 8 + (160 – X) × 5
= 100 × 10 × 3 ⇒   x = 16 men

S9. Ans.(c)
Sol.

S10. Ans.(b)
Sol.
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S11. Ans.(d)
Sol.

S12. Ans.(b)
Sol.

S13. Ans.(a)
Sol.

S14. Ans.(c)
Sol.
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S15. Ans.(b)
Sol.

S16. Ans.(d)
Sol.

S17. Ans.(c)
Sol.

S8. Ans.(c)
Sol.
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S19. Ans.(c)
Sol.

S20. Ans.(c)
Sol.

S21. Ans.(c)
Sol.

(120 – 100)r→ 180 Rs.
20r→ 180 Rs.
100r→ 900 Rs.

S22. Ans.(a)
Sol. Let C.P of 1 Pen→ 10
C.P of 90 Pens→ 900
S.P of 40 Pens→ 400 × ଵଵ଴

ଵ଴଴
⇒ 440

S.P of 50 Pens→ 500 × ଵଶ଴
ଵ଴଴
⇒ 600

S.P of 90 pens at 15% profit ൌ 900 ൈ ଵଵହ
ଵ଴଴

= 1035

Difference in S.P = 1040 – 1035
5r→ 40 Rs.
10r→ 80 Rs.
C.P of each pen = 80 Rs.



7 www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com

S23. Ans.(c)
Sol. ATQ,
Let price of 1 shirt→ x
Price of 1 pant→ y
5x + 10y = 1600  … (i)

ݔ5 ൈ
115
100 ൅ ݕ10 ൈ

90
100 ൌ 1690

5.75x + 9y = 1690  … (ii)
Solving (i) & (ii) we get
x = 200 Rs., y = 60 Rs.

S24. Ans.(a)
Sol. C.P of 750 articles = 750 × 60= 45000 paise
S.P of 600 article = 45000 × ଵସ଴

ଵ଴଴
= 63000

S.P of 1 article = ଺ଷ଴଴଴
଺଴଴

 = 105

S.P of 630 article = 630 × 105= 66150 paise

Profit % ൌ ଺଺ଵହ଴ – ସହ଴଴଴
ସହ଴଴଴

 × 100ൌ ଶଵଵହ଴
ସହ଴

= 47%

S25. Ans.(c)
Sol.
√7 െ 1
√7 ൅ 1

െ
√7 ൅ 1
√7 െ 1

ൌ ܽ ൅ √7ܾ

൫√7 െ 1൯
ଶ
െ ൫√7 ൅ 1൯

ଶ

7 െ 1 ൌ ܽ ൅ √7 ܾ

7 ൅ 1 െ 2√7െ 7 െ 1െ 2√7
6 ൌ ܽ ൅ √7 ܾ

െ
4
6√7 ൌ ܽ ൅ √7 ܾ

ܽ ൅ √7 ܾ ൌ
െ2
3 √7

a = 0, b = –2/3

S26. Ans.(d)
Sol. Sofa set→ 100
Center table→ 40
Actual Bill⇒ 40 × ଽ଴

ଵ଴଴
 + 100 × ଻ହ

ଵ଴଴
 = 36 + 75= 111

What she paid = 40 × ଻ହ
ଵ଴଴

 + 100 × ଽ଴
ଵ଴଴

= 30 + 90 = 120

Extra paid = ଽ
ଵଵଵ

 × 100

= ଽ଴଴
ଵଵଵ

 = 8.1%
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S27. Ans.(a)
Sol. Let C.P of watch = x
Profit % = x%

ݔ ൈ
ሺ100൅ ሻݔ

100 ൌ 96

x² + 100x = 9600
x² + 100x – 9600 = 0
x² + 160x – 60x – 9600 = 0
x(x + 160) – 60(x + 160) = 0
x = 60
New S.P = 60 × ଶଶ଴

ଵ଴଴

= 132

S28. Ans.(b)
Sol. Let C.P of 1000 gm→ Rs. 1000
C.P of 1100 gm→ Rs. 1000
C.P of 1000 gm for shopkeeper→ ଵ଴଴଴଴

ଵଵ

S.P of 900 gm→ Rs. 1000
S.P of 1000 gm→ ଵ଴଴଴଴

ଽ

Proϐit ൌ
10000

9 െ
10000

11

ൌ
20000

99

Proϐit % ൌ
ଶ଴଴଴଴
ଽଽ

ଵ଴଴଴଴
ଵଵ

ൈ 100

ൌ
200
9 ൌ 22

2
9 %

S29. Ans.(b)
Sol. Profit % = 14ଶ

଻
%

ൌ
1
7
→ Proϐit
→ S. P

C.P = 7 – 1 = 6
7r→ 280
1r→ 40
6r→ 240
C.P⇒ 240
S.P⇒ 280
Actual Profit = ସ଴

ଶସ଴
 × 100

ൌ
50
3 ൌ 16.66%
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S30. Ans.(b)
Sol. Let price per kg→ Rs 1
C.P of 4000 kg = Rs. 4000
S.P of 11% profit = Rs. 4440
S.P of ଵ

ହ
th i.e. 800 kg wheat= 800 × ଵ଴ହ

ଵ଴଴
 = 840 Rs.

S.P of ଵ
ସ

th i.e. 1000 kg = 1000 × ଵଵ଴
ଵ଴଴

 = 1100 Rs.

S.P of ଵ
ଶ
 i.e. 2000 kg wheatൌ 2000ൈ ଵଵଶ

ଵ଴଴
= 2240 Rs.

S.P of Remaining 200 kgൌ 200 ൈ ଵଵ଺
ଵ଴଴

ൌ 232 Rs.
Total S.P = 840 + 1100 + 2240 + 232 = 4412
(4440 – 4412)r→ 72.80
28r→ 72.80
1r→ 2.60 Rs.
C.P of 1 kg wheat = 2.60 Rs.


